INUF AR (BZ#ES4T)  Nod O HIYE vuon
& £% No. AE =TS K& R
BT 16 90 66.6 835 47K
L=67 R=0.2 16 90 66.6 415 1K
147 90 66.6 2 E 2tyhk
ZHEENTF 16 920 66.0 835 47K
L=67 R=0.2 16 90 66.0 415 1K
147 90 66.0 nE 4tyk
BT 16 90 62.3 835 27K
L=67 R=0.2 147 90 62.3 & 2tvhk
BT 16 90 61.5 415 1K
L=67 R=0.2 16 90 61.5 & 1tvhk
16 90 62.3 685 1K
16 90 62.3 575 1K
16 90 66.7 2 E 1tyhk
16 88 63.7 835 1K
CRIDTAVS & 201 90 69.9 835 47K
L=70 R=0.2 201 90 69.9 415 1A
20180 90 69.9 2 E 2tk
DAV 20180 90 69.6 nE| 1tvbk
Hu o IUF 201 90 69.5 835 27K
L=70 R=0.2 201 90 69.5 415 1A
EE VAV 108 90 94.9 835 1K
L=95 R=0. 2 106 90 94.9 & 2tk
106 90 89.8 2 E 1tyhk
J—RE9DINUF 462 90 89.85 835 1K
L=90 R=0. 2 462 90 89.85 415 1K
(AER-BENia147) 151 90 87.8 & 2tk
G—=R299INUF 463 90 89.8 835 1K




INF YRb (BEZA4T)  No2 O RITYE s
& £% No. AE =TS RS R
L=90 R=0. 2 463 90 89.8 415 27K
(DER-ENE21T) 156 90 89.8 2 E 1tvhk
G—=R29DINUF 463 90 89.5 835 27K
L=90 R=0.2 463 90 89.5 415 1A
(FER-FLNEAT) 156 920 89.5 2 E| 2tk
J—RE9DINUF 463 90 88.9 835 1K
L=90 R=0. 2 463 90 88.9 415 27K
(FEENEAT) 156 90 88.9 2E 1tvhk
Amm/sUF 116 90 66.9 835 47K
L=67 R=0.2 11680 90 66.9 & 2tk
11680 90 66.8 2 E 1tvhk
AENTF 4 88 66.9 835 47K
L=67 R=0.2 148 88 66.9 2 El 2tvhk
148 88 65.5 2E 1tvbk
ABE/NUF 8 45 65.0 o2& 1tk
L=67 R=0. 37
AENUTF 21080 30 103.2 2 E 1tk
L=104 R=0. 65 210 30 102.3 835 47K
21080 30 98.5 2 E 2tk
AENUF 103 30 65.5 835 1K
L=67 R=52 103 30 63.8 7 E 1tvbk
10380 30 63.8 835 3K
30 61.8 835 2K
AENTF 84 66.8 415 1K
1R /8UF 16—R1 88 66.5 835 27K
16—R1 88 66.5 415 1K
16—R1 88 66.5 7 E 1tvhk
16—1R 88 64.7 415 1K




INOF YRE (BE#EZAAL4T)  Nod O R IE neon
& £% No. AE =TS RS R
2R /\UF 16—R2 88 65.9 835 27K
16—R2 88 65.9 415 1&
16—R2 88 65.9 7 E 1tyk
3R /AUF 16—R3 88 64.9 835 KY
16—R3 88 64.9 415 1K
16—R3 88 64.9 nE| 1tvhk
16—R3 88 64.7 835 1K
16—R3 88 64.7 & 1tvhk
16—R3 88 64.4 7 E 1tyhk
0. 5R /SUF 88 61.3 835 1K
88 66.6 2 E 1tybk
1. BR /\UF 16—R1.5 88 65.9 415 1R
L=67 R=52 88 66.1 675 1K
2R Yy N\UF 200—R2 88 68.7 835 1K
4. 5R /NUF 4—4. 5R 88 64.6 415 1K
6R /\UF 3 60 835 1R
3 60 415 1K
138 60 2E 1tvbk
10R /82 F (%) 88 1200 1A
10R /XUF 17 835 2K
17 415 1K
15R /\UF 17 250 1R
335 1K
H—7VF R LAY |R=10 125 15 175 20 225 25 275 30
VIS INUF 220 835 3K
L=65 220 415 1A
220 o2&l 1tyhk
INUF YRS (BB#EHA4T)  Nod
& W 2% No. AE =TS K& PN
Jbi 88’ /NUF 88 66.9 835 2K
388’ /\UF 88 66.9 785 1K
b FH88° /F 88 66.9 & # 1euk
itz 88 /T 88 66.9 NS 1K




INUF YRR (TUBYFBALT)  No.d O R IE wonn
& £% No. AE =TS K& R
EENTF 16 90 84.3 835 27K
L=85 R=0. 2 16 90 84.3 415 1A
16 90 84.3 315 1K
147 90 84.3 7E 2tk
HyIUF 201 90 84.9 835 27K
L=85 R=0. 2 20180 90 84.9 7 El 1tyhk
B&l/ T 108 90 94.9 835 27
L=95 R=0. 2 106 90 94.9 & 1tk
Ay & L VAVE & 463 90 89.9 835 2K
L=90 R=0.2 156 90 89.9 & 1tk
Amm/SUF 116 90 66.9 835 27
L=67 R=0.2 11680 90 66.9 7 E 1tyhk
AENUTF 103 30 85.0 835 27
L=85 R=0. 52 10380 30 85.0 & 2tk




